8707220mm

Assembly Instructions:
Step 1:

Due to the wheel and metal shaft

matching too tight and try to avoid

scratch the wheel hub, we suggest

to apply some lubricate on the

metal shaft.

Reminder: ifthe wheel assembly too tight, it
makes the DC motor turn hard, please getthe
NO. 15 screw out and put screw M3%15 instead,
hold the wheel in hand, and use a hammer to
push M3*15 into the wheel hub, thenitbecomes
easy to pull out the wheel.

Next is to reassembly wheel again accroding to
the steps.

B

00 T/—————m o>
OOD__/;—’DOO

M3%8 flat-head M3*35 screw 2pcs M3%16 screw with M3 nyloc nut 2pcs Delicate aluminum
screw 8pcs flange 2pcs bracket 2pcs

c ~
RS

y @

Do not screw NO. 18 & 23 too tight.

Multi Chassis Tank
(rescue platform)

DG012-RV

&
©
:
0
:

®4 16T ®4 24T

Long axle 1pc
g p 1pc

@
®

(}Lubricant

et 60MXL :
Parts list: M3 washer (thin) | M2.5%25 screw 2pcs| M2.5 nyloc screw synchronizing belt 13kgs servo 1pc
10pcs 4pcs M3 nut4pcs M3%22 screw 1pc
2 2
ﬁ 3 ME%E We suggest to bend the hall sensor to 6 8mm height
%B ﬁ W Please assembly the hall sensor with a marking”20L"
o bogg ) W ) facing towards the magnet.
2\ ety WY 1+ — | S A TN
—F D
. . D Step 2
Aluminum chassis | Aluminum chassis ®4 kimi screw 2pcs DC motor 2pcs
top 1pe bottom 1pe M3+*8 screw with M2. 5%20 screw 2pcs | ®3%28 spacer 2pcs

flange 4pcs ®3%10 spacer 2pcs U shape holder 1pc| ®3%12 spacer 1pc e iiiiiiiaiiiiiiiiiios

Hall sensor holder | M2. 3%8 tapping screw 10%15%4 flange
2pcs with flange 6pcs bearings 4pcs

y

4

Track wheel 8pcs Rubber belt 4pcs | m3x6 hex screw 2pcs M3#%8 round head

screw 8pcs

© D 12

=

@3 hex spanner (M2.5 & spanner (M2 & M3) Distance holder
®4 hex1pc M4) 1pc 1pc M3%*25 4pcs

5XAA battery holder Screw driver 1pc Hall sensor encoder| ®4 Hexagonal
1pc kit 2pcs connecting piece 2pcs

Step 9:

Ensure that the wheel turn
smoothly,do not screw the NO.16
too tight. And NO.24 should apply
some lubricate.

Ensure that the wheel turn smoothly,apply
some lubricate in the wheel hub.

Use the ruler to check the length
of your screws and spacers.

Omm 10mm  20mm  30mm  40mm  50mm

Finished




X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Robotics Kits category:
Click to view products by Seeed Studio manufacturer:

Other Similar products are found below :

2939 2943 901-0153-300 1183 FITO014 FITO300 KITO098 ROB0032 ROB0036 ROB00/3 ROB0114 ROB-12494 ROB-14391 KIT-
14485 ROB-13063 ROB-08899 4205 ROB0148 ROBO0170 MINI-01 ROBO-01 PIM142 ROB0003 ROBO0005 ROB0049 ROB0112 ROB-
13174 110060864 110060866 110090322 110090325 110090326 ROB-10398 2415 TANK-01 ROBO0143 TRITANK-01 KIT0032
MBTO0021-EN ROBO0153 ROBO0156-B ROB0156-F ROB0156-L ROBO0156-P LS-00161 110990440 114992076 ROB-14332 ROB-14339
ROB-14679



https://www.x-on.com.au/category/tools-supplies/maker-diy-educational/robotics-kits
https://www.x-on.com.au/manufacturer/seeedstudio
https://www.x-on.com.au/mpn/adafruit/2939
https://www.x-on.com.au/mpn/adafruit/2943
https://www.x-on.com.au/mpn/robotis/9010153300
https://www.x-on.com.au/mpn/adafruit/1183
https://www.x-on.com.au/mpn/dfrobot/fit0014
https://www.x-on.com.au/mpn/dfrobot/fit0300
https://www.x-on.com.au/mpn/dfrobot/kit0098
https://www.x-on.com.au/mpn/dfrobot/rob0032
https://www.x-on.com.au/mpn/dfrobot/rob0036
https://www.x-on.com.au/mpn/dfrobot/rob0073
https://www.x-on.com.au/mpn/dfrobot/rob0114
https://www.x-on.com.au/mpn/sparkfun/rob12494
https://www.x-on.com.au/mpn/sparkfun/rob14391
https://www.x-on.com.au/mpn/sparkfun/kit14485
https://www.x-on.com.au/mpn/sparkfun/kit14485
https://www.x-on.com.au/mpn/sparkfun/rob13063
https://www.x-on.com.au/mpn/sparkfun/rob08899
https://www.x-on.com.au/mpn/adafruit/4205
https://www.x-on.com.au/mpn/dfrobot/rob0148
https://www.x-on.com.au/mpn/dfrobot/rob0170
https://www.x-on.com.au/mpn/oseppelectronics/mini01
https://www.x-on.com.au/mpn/oseppelectronics/robo01
https://www.x-on.com.au/mpn/pimoroni/pim142
https://www.x-on.com.au/mpn/dfrobot/rob0003
https://www.x-on.com.au/mpn/dfrobot/rob0005
https://www.x-on.com.au/mpn/dfrobot/rob0049
https://www.x-on.com.au/mpn/dfrobot/rob0112
https://www.x-on.com.au/mpn/sparkfun/rob13174
https://www.x-on.com.au/mpn/sparkfun/rob13174
https://www.x-on.com.au/mpn/seeedstudio/110060864
https://www.x-on.com.au/mpn/seeedstudio/110060866
https://www.x-on.com.au/mpn/seeedstudio/110090322
https://www.x-on.com.au/mpn/seeedstudio/110090325
https://www.x-on.com.au/mpn/seeedstudio/110090326
https://www.x-on.com.au/mpn/sparkfun/rob10398
https://www.x-on.com.au/mpn/adafruit/2415
https://www.x-on.com.au/mpn/oseppelectronics/tank01
https://www.x-on.com.au/mpn/dfrobot/rob0143
https://www.x-on.com.au/mpn/oseppelectronics/tritank01
https://www.x-on.com.au/mpn/dfrobot/kit0032
https://www.x-on.com.au/mpn/dfrobot/mbt0021en
https://www.x-on.com.au/mpn/dfrobot/rob0153
https://www.x-on.com.au/mpn/dfrobot/rob0156b
https://www.x-on.com.au/mpn/dfrobot/rob0156f
https://www.x-on.com.au/mpn/dfrobot/rob0156l
https://www.x-on.com.au/mpn/dfrobot/rob0156p
https://www.x-on.com.au/mpn/oseppelectronics/ls00161
https://www.x-on.com.au/mpn/seeedstudio/110990440
https://www.x-on.com.au/mpn/seeedstudio/114992076
https://www.x-on.com.au/mpn/sparkfun/rob14332
https://www.x-on.com.au/mpn/sparkfun/rob14339
https://www.x-on.com.au/mpn/sparkfun/rob14679

